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Table 1 KTX 3! SRT i 0§24 S35pxtAIA (9] w/d)
3 3 A3 _
*)ﬂ\_‘ o @1 o _ _ o _ o — = H 37
i P T x 1 ax A 2o A sA
1 A& 14,333,700 20,396/ 14,354,096 33,106 14,468,988 14,502,094 28,856,190 KTX
2 HAF 4 9,823,662 9,823,662 9,764,339 4 9,764,339, 19,588,002] KTX+SRT
3 S+ 2,258,278 6,363,627 8,621,905 6,377,723 2,179,599 8,557,323 17,179,227 KTX+SRT
4 o A 2,583,951 3,962,689 6,546,640 4,038,896 2,553,643 6,592,540, 13,139,180 KTX+SRT
5 4= A 4,967,222 4 4,967,222 4 4,948,321 4,948,321 9,915,542 SRT
6 LAk 4,265,840 2,351 4,268,191 11,637 4,663,617 4,675,254 8,943,445 KTX
7 | 4,113,095 124,708 4,237,803 134,613 4,120,751 4,255,364 8,493,167 KTX
8 Z QtolAtk 2,062,860 1,932,200 3,995,061 1,964,781 2,120,963 4,085,744 8,080,804 KTX+SRT
9 Ak 379,999 3,336,759, 3,716,758 3,233,448 370,192 3,603,640 7,320,398 KTX+SRT
10 e 133,701 2,985,928 3,119,629 3,091,612 126,700 3,218,312 6,337,941] KTX+SRT
A 40,102,497, 40,102,481 80,204,979 40,523,261 40,523,277 81,046,538 161,251,516
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R e 1 Testiohe =L S e p————
i = gl e 7 SM~EAE 399.9km 158(176) 2 e e Az

SA~=:m 373.9km 148(162) |
SAM~2ZE 356.4km 141(157)=

ME~ZEZ  349.4km

21.28

Fig. 1 KTX U SRT 2%#8igl Fig. 2 S{O|H{|Z 2= =MLY
Talbe 2 BIO|HEZ SQJ0f T}E J}xIZes A} (H]-8F] : ol 91
23 71% =4 (Function) &= H(Cosh) | ZEA(V)
& 71l Azl g AP EE0d) S uSE0d)l A | o V=F/
(km) | (A7) | 0.0% [ 45% [ FAS | 45% | FAS | W& T Mz 2
ZAE(AE&~FAD| 3557 | 2,266 | 90,645 | 41,700 | 0.561 | 83,401 | 1.122 | 74,323 | 1.000 | 0.57 1.12
SHAE~E3E)[349.4 | 2,218 | 88,713 140,812 | 0.618 | 81,623 | 1.257 | 66,071 | 1.000 | 0.62 1.26
SHE(PA~E3E)[205.1 | 1,301 | 52,031 | 23,936 | 0.633 | 47,873 | 1.288 | 37,793 | 1.000 | 0.63 1.29
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